&

&>

&

10 2890 7880 2880 2880 2890 10
= z| 7 =/ FG] =
[ = = — - = & £ S
- =<k - - =
Tyh-fwb (7928) M12 L=45(
4 &}y ) ‘
= 220 120 =
o 10(1 (110 110(1 1110 T
N
O =S £<
- | TvaReh k) MIT L=450 Tra-Evk (7926 M2 1=450 | ]y - =
= O g By} B4 By} O =
'_ fr, , =
M é:: - —— &;
| 8 0 [y | |
= ) T7h=#wk (7978 M12 1=450 =
= : ﬁ B8 TEfy | =
| 7‘\ p— ] ]
@ | a3 sz @S i
= F F 1 F 1 F1 —
2890 5760 5770
7Yh-Ew} (79740) 1640
M12 L=45( EBRE
4 "E}y | Tvh-Ewb (7926)) M12 L=450 | = 1750 |
(300) 8 "Fy }
oy 0, Y -
= D10 6300 ——r
D10 0150 ? _ _
T “l = 1-D1( = % EMBH 5 0KN/nf
0-D10 - = — ZFR EMNo. ZXENo.
| = 1-D13 =
~— A N P EEPS wE KEE
g T = 100 12501 | 100 ERR—RNY X HKS 5035
070 E i _ AR | BN | 8K |KF
100 800 100 EBRKN - ERsFEN HS5DHA10247A
F 1% | E@seN 130 | FG18 % () YHERFGZ2%27XY |gr 1 /50| fmeas 57 4 FEMTEHRS




